situation	√×, P(x)	Jx,7 P(x)	Jx. P(x)	V×.¬P&)
no x of specified type	T	F	F	T
there are x of specified type & P is true for all such x	T	F	T	F
three are x of specified type & P is false for all such x	F	Т	F	T
there are x of specified type & P is true for some of these, false for others	F			F
	oppositus		ogpositus	

Thus we have proved

Prop The negation of 
$$\forall x.P(x)$$
 is  $\exists x. \neg P(x)$ .

the negation of  $\exists x.P(x)$  is  $\forall x. \neg P(x)$ 

Lecture 4 Thursday, January 29, 2015 What do we prove ? And how do me prove it? PVQ: Suppose PaF, show than Q=T. (Or vice versa) e.g. A pos prim # 11 odd or 2. If Suppose p is a pos prime which is not odd. Then p=2'r Since priprim, 121, 50 p=2. D P => Q: Assume P=T, show then Q=T. or by "contrapositive": Assume Q=F, show than P=F. eig. If an integer n is a mult of 2 & mult of 3, then n is a mult of 6. If Let n be a must of 2 & 3. Then n= 2p = 3q for some integers p.q. 2p=3q forces q oven so that q=2r. for intr Thus n=3.2.r=6r, and we see n is a multiff 6. [] Yx. 9(x): Let x be arbitrary of specified type. Prove P(x)=T.

All real #5 x satisfy x2= (-x)2.

If (it x be an arb real #, Then (-x) = (1x)(-x)=(-1)x(-1)x = (-1)(-1) x x = 1.x2 = x2, as distrib. []

Fix. P(x): Find or construct x such that P(x)=T. Or involve a theorem guaranteeing the existence of such x.

If There exists real to x s.t. x3-3x=2.

Pf Lut x=2. and observe that 23-3.2=8-6=2, as dissired. []

e.g. There exists real  $\times$  st.  $x^3 - x = 1$ .

If  $f(x) = x^3 - x$  is ets 2 f(0) = 0, f(2) = 6. Since 0 < | < 6,  $1 \lor T$  implies  $\exists x : 0 < x < 2$  and f(x) = 1.

thm [Endid, 300 BCE] Three are infinitely many prime \$5.

Pf (by contradiction) Suppose there are only finitely many prime \$5.

P1, 92, ..., 9n. let a = p.p.... pn +1. Since Lis a prime, a>1.

Pry FTA, a has a prime factor p = p; for some 15 is n.

Since p divides a & p dovides p.p. ... pn, it must divide a - p.p..... pn = 1, which is absord. Thus there are in fact a by many primes.

In order to effect this, we had to negate a statement:

***	,
statement	ngoton 7P
l	
$P \wedge Q$	7(P~Q)=-P V 7 Q
P v Q	7 (P ~ Q) = 7 P ~ 7 Q
P= Q	~ (P => Q) = P ~ ( Q)
∀×. ?(×)	Jx. ¬P(x)
]x, P(x)	Vx. ~P(x).